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����(� ���� ��5�� &4������ "1!(�'	� /������ �� ��� ��� 
����� "�  ��� �����
�����������������%������������)��� ������������������������%��������������������������	�
�
� �����"�+�8������%!!���!��+�"+�����$���(�!�1%��(��1"!�7%1%��������""+��������
>����� �$�� ������ � � �$�� ������$�=������(� �$��������%������ ����$���������� ��� �$�� ����������� �
������������� ��%����� ��� �$�� -:>/�� ��� )���� ���  ��� �$�� �������� � � �$�� -:>/� ���� -�����%���
9�����%����� /���� &-9/'�  ����������� %��������� $��� ��������� �
� �DH	� ��� ��������� �$��
-:>/I-9/���������$�������� ����������������$��-�����%����
�� �
%���	��B�)����(�������������
$��� ���������� ��� ������������)��$� �$��#� ���� ���� ��� �$������)��$��� �$���� ��������	� ��$��
-:>/I-9/� �������� ��� ��  ����������� ���%� ��� ��������� �$��� �$�� ��)� ���$���������� ����
��������������%������%����
	���

                                                 
1  �$��
����+�-������������������%�������$�����������*�������� ��$������������1
����+����������������������	�
!����%������� �������� ��$������� ���%��.���� ����������� ���������� ��� ��%������ ���������%�������� �$��� $��������$������6���)��$�
%�������������������������  ������������(���.�����������������)��)����.�����	�
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	��$��
������������(��������������
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��$������� ��$��
����!DDJ(����������%���������������������)��$���%��������������
������%��������������	�3$�����$����������� �����������������������$��������%������ ��������(�������
�����������%���)�������$����������������
�������%��������������	��$�����$������
�)�����������$��
����������� ��������������%��������������$��������%������ �-:>/�	�
�
>%� ������ �$�� ������$� =������(� ������%����� � � �$�� -:>/� $��� ��������� �
� CDH� ��� �$��
������%��������� �������������*���������������(��$�������������� ���������
��� ���������$��������
���%�����(������������$���������������)��$������������$�����������%��������� ��$��-:>/��$���
�����)������	������������(�-:>/�%������������)����$�%��$�����������%�����	���
�
9�������$��������$�=������(��������������DH�����$��������%������ �-:>/�����������������*���
������������� ���� ��������� !DH�)��$� �$�� �������������� � � �$�� �� ��������� ���������	� �$���
%�������������%��������������������$�������������� ��$���������$�%$����&
�����C'	�
�
�� ���� �$�� ������$� =������(� �$�� �����)� � � ������������� ���� �������� ��������� �����������
���%������� � � 4��������=��� ��������� -:>/� $��� ��������� �
� FDH	� ��� $��� ����$��� ��
%���������
�����������)��$��$��������%����
���������$����-:>/�)��������$���������$�����������
������� �������� �����)�� ��$�����������-:>/���������� ���������� ������$�������)��$� �$����������
���$�����������������	���
�
����$���=������(��$��%��.������������%�������$������������ ��$������������������������������������
����������� ���%������� � � �$�� 4��������=���-:>/� ���� �$�� 7���������� � � 
����������� � �
-�����%�������������������$��������%������ ��$��4��������=���-9/(�����������$��-:>/�)��$���
�������$����������������
����%�����	�
�
>����� �$��������$�=������������(� �$�������������
����%������� ��$��/��%��������-�����%����
�
-:>/�&:������%��!'�$�������������
��DH(������$��)$����-:>/�)���FDH����%����(�)��$���
"ECD(DDD�������8�*1��������%�� ������������ ���� �%������ &���$����� ���� ��������'��������������
�� ���������$��������������������$��� ������������������������������������$��������%����
	�9������
�$�� ������$� =������(� �$�� �����������
� ���%������ ����$��� �CH(� �)������� ���
� �%%������ ����
�������������� ������ ������ ������� ��� ��� ���%����	� ��������
(� �$�� ������%����
� ��� ��%����������
������������
�%������������)���������������������������������-�
��	�
�
�� ���� �$�� ������$� =������� �����(� �$��  ����������� � � ����������� %�����  ��� �$�� 
����+�
/��������� 
���� &
/
'� ���� ������%��� %�������� ������ ��� �$�� ������������ ������%�������� $���
����������
�"DH(�)��$��)��7
#�������������$�������������������������� �%������
��������������
������ ���������������	������������(�7
#�$���%��%����������������������������
�����$���������
�$��%�������� � �� ������� ������ �����$������������� ��	��������(�7
#�$�����)���$������FDH�� �
�$����������
	��$�����%$
����������������$�����������%����������%������
��������������������$����
������� ����	�7
#�)�������������$����������������������������������$������$�=������	��$�� �����
�������)�������������$��%������������� ���%��� ������ �%��.����� ����$��
/
	�
�

��� ��$������� ��$������$�=������(��$�����$������
� ����$����%������������� ��$���������������
������������ �����������������������%������� ���-:>/�� ���:������%��!�)���"CH����%����	��
7
#�$��� ���������������������%�������� �����%�����������$��%��������*����%���(�������%��
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�$������� ��$������$�=������(��$��-9/�������%�����%������(�����������$��-:>/��$������������
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%���������
�CH�����$��-�����%����
�� �-�������&:������%��!'	�
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���� �-�������$����  ������
��%%������7
#<��%����� ����$��-9/�)�����������������
$�������������%�����������$� ������� ����$��%������	������������(�)��$���%%���� ����7
#(��$��
������%����
� $��� �� ����� ���� �������� )���� ������� ���� ������ � � �� �������  ��� �$�� �����������
�����������	��
�
9�������$��������$�=������(������$���������%�������� �CDH�� � ��������%�������������������)��$�
�$��������%����
�� �
%���	��$��-:>/������)��������������������������������� ����$��%��������
� � ���������� ���� �%�������� �������	� � ������������
(� �$����%�� ������ 
���� %������
� �������������
������ ���� ������ ����� ��� ��%����  ��� %����������� ������������ ��������� ��� �$�� -9/	� ��� �$��
������%����
� � � -������(� ��������� $���� ����$��� !DH� ���� �$�)� ������� �%%��%�������� �
� ��
������������ ���������������$������)��$������������%������������������	�
�
:���1��������������������$��*���K�������>�$�%����������5��$�������������
�!DH�%���������$��
������$�=������(�)��$� �$����� ���$������ ����� $������ ������%��� ��� ��%������������ %��%����� ���
�������������)��$��$����5���%������������	���$���%��%����� ����������
�%����� ������ ��)�������
�������������)������������$����5	�9�������$��������$�=������(��������������$����DH��������
�����������������$�� �����%�
��������������������������)��$��$����5	�:���)���(��$����5(����
�������������)��$���<�� ���$������ ����(� ��������$��� �� %������� � � ���$����� � � ��%���������)��$�
��$�����5��)��$�����������%������������������������������
�����������	��
�
>������$��������$�=������(��$������������ ��$��4�
�������*�����4������������%���/���������
����
��� �$��9�%�������� � ������ $��� ��������� �
� �DH	� � �$��
��� ����������
� ���(� $������ �����
������������
��$�� �)��������%��������)��$�/������� ����(�$������%������ �$��%��%����� ��� �$��
���������� ���%�������������� ��� �$���6���(�����$�����������������������)��$� �$��������%��������
��������� ����$������������ ��������	�
������������ �)�������%��������������$��������$�=������(�
%�������� ��� �$��� ������� ��� ��)� ���JDH(� ���������� �������� ��$������ ��� ���$�������%�������	� �$��
�����������  ����$��� �$�� ���������� ��� �$�� ������%����
� � � *����� 4���� ���� ��� $��� ��$������� ��
%������������� ��������� ����������������$����������=������	��$��������%����
�� �4�
��� ������������
�
����
��� ��� �$�� %������� ���� ��� ��������� �������������� )���������� ���� �$�� ��� ���$������ ����� ���
)����������������������$��%��������$���	��
 
�$����
� %������� � � ����������� ������ �����$������ �)�������� ��� �$��� �$�
�)���� ���� �$�� %��������
������������������%���$�������������
��DH��� ���� �$��������$�=������	� ����:������%��"(����
��������� �� ��������������� �������
� ���� ����������%��� ���� ��%�����������G� ��� ����(� %������(�
������������)����%������������������������)����$���� �����������������������)��$��� �$��*���
������������� ���� �������� ������%�������	� � ��� :������%�� !� 7
#� $��� ����� ��������� ����

                                                 
3 �$����$��$��������%������ ��$���������������������
�-����������/���� &/8���� �����*%����$������
�'(�)��$�%�� �$��� �$��
%���������������� ��$����5��������������������������������=�������$���������������� �%������������������-���������������	�������
��%����������%����������$����CH�� ��$�����5����)��$����$��-������/
	�
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��������������� �������
	� � ��� �$�� ������$� =������(� ��������� ��� �$��� ������� ����$��� FDH	� ���
���������������������������������������(� ����������(��������������������$��������������$�������
��� �$��������%�������� � ��������� ����*���������������	����:������%�� !(� 7
#� ������� ���� �$��
�������������� %������� )��$� ��������� �$��� ��%����� �$�� ��%�������� � � ������������� ����
�������������$����$��$������� �����1���������������$����������&
�������J�1L'	�
�
������������ �$��� �������� )���� ��� ������ ����� ��� �$�� �)�� :������%��(� ������� )��$� ��  ������
�����$������(��$��������������$��������)�����$���)��:������%��<����$������������������������� ���
/������� ��������� ���� ���%���������������	� � �$��/������� $��� �� �%��� ��� �������
� %������� ���
������� ���$� ��� ���$����(�)$��$� $��� ��������� �
� "DH��� ���� �$�� ������$�=������� �����(� �
�
�������� �������$���������$��-:>/�����-9/����$���������	�9�������$��������$�=������(�/����
��$��������������%��������� �!DH�����$��������%������ ��������������������������$������� ���
)��$����$��������������
��������� �$���������������$��M!������$������-�������� ��$��:�/N����
�����%����(��������)$��$��$������ � ������������$��������� �������� ��������)������ ������
��$��
%������%����	��$��)����$�%�)����������������
�/�������:������%��!�����$��������%����
�� �������
������� �����$��!"�������$��!����� �K���	��
�
��(�����2+%�"!������7%���������7%(�"!�1������
>������$������������� ��$��������$�=������(��$��%�������� ������� 
����������%%�������&���$������
�
���� ���������
'���)������������
1 ������
�%���������F� ������������ ��� ����$���� ����%������� �������
$�������������
������������� �!CH��������$���)��:������%��	���$�������������&�$����$�/���(�
7
-(�������'�$��������������� ��������� ���������������������%�������� �$�����$�������$��� �$��
�$���� ��������� ��� :������%�� "� ������%�������� &4��������=��(� *��� ������������� ���� �������'�
)������������$�������$�� ����������
������ �����%%��������$������������������$����.������������	����
:������%�� !� �$��� �������
� $��� ��������� �
� "CH� )��$� 7
#� $������ ������ ��� ����
� ����  ����
������������%���������� ���� ��������� ������������ ������������ ��� �$�� ����������������%�������� ���
�$�� *���$���� 
/
� 6���� &������%���� ��� -������� ���� *����%���(� %������� ��%��������� ���
/��%������������������%���������� ������
��
���������������%�'	���
�
9������ �$�� ������$�=������(� �$�� ����������� &�$����$�7
-(�/���(� ������'� ��$������ �����������
��������� ��DH�����$��������%������ ��$����������������%%����%��������� ������������M������9N�
&�����������������9�����%����'	�7
-�$������������������������������������� ��$��%�������)��$�
��%������������� ���� �$��������%��������� �*���������������(��������(� ����4��������=��	��$��
/�������)���� ����������������������������������)��$���)���1�� ����� �����������%���������  �������
�����������
	����:������%��!(��$��:��O����������������/��.����$�������%%����%������� ��������
��� ��%������� �$�� ������6������ ����� � ���� ���� ��������������� ��� ��������� �������� ���� �$��� �$��
�������� ����$��:��O����� ����������������	�
��

������������$��������$�=������(��$��-�.�1�����������������������%��������%%������������������	�
��� ��������(� /���(� ��(� ���� �$�� �������� -�������� 4�������� �������� &�4�-�  ��� ���� *%����$�
�����
�'�������%��� ����������������&)���������(�K�����(���������&%�����������'(� �����������������
%����(� ���� ������6��� ���%����
'� ���� ���� ����������� �������
(� )$��$� )���� ��������� ���� �$��

                                                 
4 The term “productive initiative” implies that natural resources are being sustainably harvested in such a way 
as to support community well-being. The productive initiatives supported by the Program include a spectrum of 
approaches and do not necessarily result in a saleable product that would increase the cash-economy of the 
initiatives’ members.  
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5 OCA stands for Organizational capacity assessment. The OCA tool has been developed by Pact in many 
contexts throughout Latin America as a way of identifying the barriers that those organizations, particularly 
local governments, should make a priority to overcome in order to become more effective.  
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